

examination of the proof of Theorem 3 shows that it would go through with little change if equation (3) were replaced by the requirement that  $|m(\alpha)|$  be bounded. We therefore obtain the following result: If for a doubly simple region there exists an unbiased estimate  $p(\alpha)$  of  $p$ , not identically equal to  $\hat{p}(\alpha)$ , then not only is  $p(\alpha)$  not proper, but also, no matter how large  $M$ , there exists a boundary point  $\alpha$  such that  $|p(\alpha)| > M$ . The uselessness of such an estimate is manifest.

The author is of the opinion that freedom from bias is not necessarily an indispensable characteristic of an optimum estimate. In general there is no reason for requiring the first moment of the estimate rather than any other moment to be the unknown parameter. The justification in any particular case must be based on special conditions of the problem.

The author is indebted to Mr. Howard Levene for reading the present paper and making valuable suggestions.

## REFERENCE

- [1] M. A. GIRSHICK, FREDERICK MOSTELLER, AND L. J. SAVAGE, "Unbiased estimates for certain binomial sampling problems with applications," *Annals of Math. Stat.*, Vol. 17 (1946), pp. 13-23.  
 [2] A. WALD, "Sequential tests of statistical hypotheses," *Annals of Math. Stat.*, Vol. 16 (1945), pp. 117-186.

---

**DIFFERENTIATION UNDER THE EXPECTATION SIGN IN THE  
FUNDAMENTAL IDENTITY OF SEQUENTIAL ANALYSIS**

BY ABRAHAM WALD

*Columbia University*

**1. Introduction.** Let  $\{z_\alpha\}$  ( $\alpha = 1, 2, \dots$ , ad inf.) be a sequence of random variables which are independently distributed with identical distributions. Let  $a$  be a positive, and  $b$  a negative constant. For each positive integral value  $m$ , let  $Z_m$  denote the sum  $z_1 + \dots + z_m$ . Denote by  $n$  the smallest integral value for which  $Z_n$  does not lie in the open interval  $(b, a)$ . For any random variable  $u$ , let the symbol  $E(u)$  denote the expected value of  $u$ . The following identity, which plays a fundamental role in sequential analysis, has been proved in [1].

$$(1.1) \quad E[e^{zn^t} \varphi(t)^{-n}] = 1,$$

where

$$(1.2) \quad \varphi(t) = E(e^{zt})$$

and the distribution of  $z$  is equal to the common distribution of  $z_1, z_2, \dots$ , etc. Identity (1.1) holds for all points  $t$  in the complex plane for which  $\varphi(t)$  exists and  $|\varphi(t)| \geq 1$ .

The purpose of this paper is to formulate conditions under which we may differentiate (1.1) with respect to  $t$  under the expectation sign. This is of interest, since various results in sequential analysis can easily be established by differentiating (1.1) under the expectation sign. For example, the formula for  $E(n)$  can immediately be obtained by differentiating (1.1) at  $t = 0$ . The derivative of  $e^{Z_n t} \varphi(t)^{-n}$  at  $t = 0$  is given by

$$(1.3) \quad Z_n - \frac{\varphi'(0)}{\varphi(0)} n = Z_n - E(z)n$$

where  $\varphi'(t)$  denotes the derivative of  $\varphi(t)$ . Hence, if we may differentiate (1.1) under the expectation sign, we obtain the basic formula

$$(1.4) \quad E(Z_n) = E(z)E(n).$$

If  $E(z) \neq 0$ , the above equation has been used [2] to derive lower and upper limits for  $E(n)$ . If, however,  $E(z) = 0$ , formula (1.4) is of little value. It will be shown in section 3 that

$$(1.5) \quad E(n) = \frac{E(Z_n^2)}{E(Z^2)} \quad \text{when} \quad E(z) = 0.$$

This result is obtained, as will be seen in section 3, by differentiating identity (1.1) twice at  $t = 0$ .

**2. A sufficient condition for the differentiability of (1.1) under the expectation sign.** In what follows, the parameter  $t$  in (1.1) will be restricted to real values, even if this is not stated explicitly. For any random variable  $u$  and any relation  $R$ , the symbol  $E(u | R)$  will denote the conditional expected value of  $u$  under the restriction that  $R$  holds. In this section we shall establish the following theorem.

**THEOREM 2.1.** *If  $\varphi(t)$  exists for all real values  $t$ , identity (1.1) may be differentiated under the expectation sign any number of times with respect to  $t$  at any value  $t$  in the domain  $\varphi(t) \geq 1$ .*

**PROOF:** First we shall derive an upper bound for  $E(e^{tZ_n} | n = m)$  for any given integral value  $m$ . Consider the case when  $t > 0$ . Then

$$(2.1) \quad E(e^{tZ_n} | n = m) \leq E(e^{tZ_n} | Z_n \geq a, n = m) \quad (t > 0).$$

Clearly,

$$(2.2) \quad E(e^{tZ_n} | Z_n \geq a, n = m, e^{tZ_{n-1}} = \rho e^{at}) = e^{at} \rho E\left(e^{zt} | e^{zt} \geq \frac{1}{\rho}\right).$$

Let  $l(t)$  denote the least upper bound of the expression

$$(2.3) \quad \rho E\left(e^{zt} | e^{zt} \geq \frac{1}{\rho}\right)$$

with respect to  $\rho$  over the interval  $(e^{-(a-b)|t|}, 1)$ . The existence of  $\varphi(t)$  implies that  $l(t)$  is finite. It follows from (2.1) and (2.2) that

$$(2.4) \quad E(e^{tZ_n} | n = m) \leq e^{al(t)} \quad (t > 0)$$

and, therefore, also

$$(2.5) \quad E(e^{tZ_n}) \leq e^{al(t)} \quad (t > 0).$$

If  $t < 0$ , one can show in a similar way that

$$(2.6) \quad E(e^{tZ_n} | n = m) \leq e^{bl(t)} \quad (t < 0)$$

and

$$(2.7) \quad E(e^{tZ_n}) \leq e^{bl(t)} \quad (t < 0).$$

To prove Theorem 2.1, it is sufficient to show that the following two propositions hold.<sup>1</sup>

PROPOSITION 2.1. *All derivatives of  $e^{Z_n t} \varphi(t)^{-n}$  with respect to  $t$  exist in the domain  $\varphi(t) \geq 1$ .*

PROPOSITION 2.2. *For any positive integral value  $r$  and for any finite interval  $I$  in which  $\varphi(t) \geq 1$ , it is possible to find a function  $D(Z_n, n)$  such that*

$$(2.8) \quad D(Z_n, n) \geq \left| \frac{d^r}{dt^r} [e^{Z_n t} \varphi(t)^{-n}] \right|$$

for all values  $t$  in  $I$  and

$$(2.9) \quad E[D(Z_n, n)] < \infty.$$

Proposition 2.1 is clearly true, if all derivatives of  $\varphi(t)$  exist. The existence of these derivatives follows from the existence of  $\varphi(t)$  for all values  $t$ .

Since  $\frac{d^r}{dt^r} e^{Z_n t} \varphi(t)^{-n}$  is equal to the sum of a finite number of terms of the type  $Z_n^{r_1} n^{r_2} e^{Z_n t} \varphi(t)^{-n}$ , Proposition 2.2 is proved if we can show that for any given integral values  $r_1$  and  $r_2$  there exists a function  $D_{r_1 r_2}(Z_n, n)$  such that

$$(2.10) \quad D_{r_1 r_2}(Z_n, n) \geq |Z_n^{r_1} n^{r_2} e^{Z_n t} \varphi(t)^{-n}|$$

for all  $t$  in  $I$  and

$$(2.11) \quad E[D_{r_1 r_2}(Z_n, n)] < \infty.$$

Clearly, since  $\varphi(t) \geq 1$  in  $I$ ,

$$(2.12) \quad |Z_n^{r_1} n^{r_2} e^{Z_n t} \varphi(t)^{-n}| \leq |Z_n^{r_1}| n^{r_2} e^{|Z_n| t_0}$$

where  $t_0$  is an upper bound of  $|t|$  in  $I$ . Let  $t_1$  be a value  $> t_0$ . Then for a properly chosen constant  $C$  we have

$$(2.13) \quad |Z_n^{r_1}| e^{|Z_n| t_0} < C e^{|Z_n| t_1}.$$

<sup>1</sup> See, for example, E. J. McShane, *Integration*, Princeton University Press (1944), p. 216, 217 and 276.

Hence, it follows from (2.12) and (2.13) that

$$(2.14) \quad |Z_n^{r_1} n^{r_2} e^{z_n t} \varphi(t)^{-n}| \leq C n^{r_2} e^{|z_n| t_1} \leq C n^{r_2} (e^{z_n t_1} + e^{-z_n t_1})$$

for all  $t$  in  $I$ .

We put

$$(2.15) \quad D_{r_1 r_2}(Z_n, n) = C n^{r_2} (e^{z_n t_1} + e^{-z_n t_1}).$$

We have

$$(2.16) \quad E[D_{r_1 r_2}(Z_n, n)] = C \sum_{m=1}^{\infty} p_m m^{r_2} [E(e^{z_n t_1} | n = m) + E(e^{-z_n t_1} | n = m)]$$

where  $p_m$  denotes the probability that  $n = m$ .

Hence, because of (2.4) and (2.6), we obtain

$$(2.17) \quad E[D_{r_1 r_2}(Z_n, n)] \leq C(e^{a t_1} l(t_1) + e^{-b t_1} l(-t_1)) [\sum p_m m^{r_2}] = C[e^{a t_1} l(t_1) + e^{-b t_1} l(-t_1)] E(n^{r_2}).$$

Since all moments of  $n$  are finite,<sup>2</sup> Proposition 2.2 is proved. This completes the proof of Theorem 2.1.

**3. The expected value of  $n$  when  $E(z) = 0$ .** It will be shown in this section that

$$(3.1) \quad E(n) = \frac{E(Z_n^2)}{E(z^2)} \quad \text{when } E(z) = 0,$$

if identity (1.1) can be differentiated twice under the expectation sign at  $t = 0$ . The second derivative of  $e^{z_n t} \varphi(t)^{-n}$  with respect to  $t$  is given by

$$(3.2) \quad \left\{ \left[ Z_n - n \frac{\varphi'(t)}{\varphi(t)} \right]^2 - n \frac{\varphi''(t)\varphi(t) - [\varphi'(t)]^2}{[\varphi(t)]^2} \right\} e^{z_n t} \varphi(t)^{-n}$$

where  $\varphi'(t)$  denotes the first, and  $\varphi''(t)$  the second derivative of  $\varphi(t)$ .

Since  $\varphi(0) = 1$ ,  $\varphi'(0) = E(z) = 0$  and  $\varphi''(0) = E(z^2)$ , putting  $t = 0$ , expression (3.2) becomes

$$(3.3) \quad Z_n^2 - n\varphi''(0) = Z_n^2 - nE(z^2)$$

Hence, if (1.1) may be differentiated twice under the expectation sign at  $t = 0$ , we obtain

$$(3.4) \quad E[Z_n^2 - nE(z^2)] = 0$$

from which (3.1) follows.

An approximate value of  $E(n)$  can be obtained from (3.1) by neglecting the excess of  $Z_n$  over the boundaries. Then  $Z_n$  can take only the values  $a$  and  $b$ . Hence

$$(3.5) \quad E(Z_n^2) \sim a^2 P(Z_n \geq a) + b^2 P(Z_n \leq b)$$

where the sign  $\sim$  denotes approximate equality.

<sup>2</sup> See the paper by C. Stein, "A note on cumulative sums," in this issue of the *Annals of Mathematical Statistics*.

It was shown in [1] (equation 28) that neglecting the excess of  $Z_n$  over the boundaries, the approximation formula

$$(3.6) \quad P(Z_n \geq a) \sim \frac{1 - e^{bh}}{e^{ah} - e^{bh}}$$

holds, where  $h$  is the non-zero root of the equation  $\varphi(t) = 1$ . This formula was derived there under the assumption that  $E(z) \neq 0$ . If  $E(z)$  approaches zero,  $h \rightarrow 0$  and the right hand member of (3.6) converges to  $\frac{-b}{a-b}$ .

Putting  $P(Z_n \geq a) = \frac{-b}{a-b}$  and  $P(Z_n \leq b) = 1 - \frac{-b}{a-b} = \frac{a}{a-b}$ , we obtain from (3.5)

$$(3.7) \quad E(Z_n^2) \sim a^2 \left( \frac{-b}{a-b} \right) + b^2 \frac{a}{a-b} = -ab.$$

Hence<sup>3</sup>

$$(3.8) \quad E(n) \sim \frac{-ab}{E(z^2)}.$$

Limits for  $E(n)$  can be obtained by deriving limits for  $E(Z_n^2)$ . Let  $r$  be a non-negative real variable. One can verify that

$$(3.9) \quad a^2 \leq E(Z_n^2 | Z_n \geq a) \leq \text{l.u.b.}_{0 < r < a-b} E[(a - r + z)^2 | z \geq r]$$

and

$$(3.10) \quad b^2 \leq E(Z_n^2 | Z_n \leq b) \leq \text{l.u.b.}_{0 < r < a-b} E[(b + r + z)^2 | z + r \leq 0].$$

We have

$$(3.11) \quad E(Z_n^2) = P(Z_n \geq a)E(Z_n^2 | Z_n \geq a) + P(Z_n \leq b)E(Z_n^2 | Z_n \leq b).$$

Limits for  $E(Z_n^2)$  can be obtained by replacing the conditional expected values in the right hand member of (3.11) by their limits given in (3.9) and (3.10).

#### REFERENCES

- [1] A. WALD, "On cumulative sums of random variables," *Annals of Math. Stat.*, Vol. 15 (1944), pp. 285, 287.  
 [2] A. WALD, "Sequential tests of statistical hypotheses," *Annals of Math. Stat.*, Vol. 16 (1946), p. 143.

---

<sup>3</sup>This approximation formula was obtained also by W. A. Wallis independently of the author. It is included in the publication of the Statistical Research Group of Columbia Univ., *Techniques of Statistical Analysis*, Chapter 17, Section 7.2, McGraw Hill, New York (1946).